



Name: _____

Date: _____ Score: _____

$$\left(3 - \frac{3}{4}\right)^2 + \frac{1}{2} \times \frac{1}{3} \times 3^2 =$$

$$\left(\frac{1}{3} - \frac{1}{3}\right)^2 + \frac{1}{6}\left(\frac{3}{2} - \frac{1}{5}\right) =$$

$$\left(5 - \frac{1}{4}\right)^2 + \frac{3}{5} - 4^2 \times \frac{1}{2} =$$

$$\left(\frac{3}{2} + \left(\frac{1}{6}\right)^2\right) \times \frac{1}{6} + \left(\frac{1}{3} - \frac{1}{6}\right)^2 =$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{2}{3}\right) \times \frac{3}{4} - \left(\frac{1}{3} - \frac{3}{2}\right)^2 =$$

$$\left(\frac{1}{3} - \frac{1}{2}\right)^2 + \frac{3}{2}\left(\frac{1}{2} + \left(\frac{2}{5}\right)^2\right) =$$

$$\left(\left(\frac{2}{3}\right)^2 + \frac{1}{3}\right) \times \frac{1}{4} + \left(\frac{3}{5} + \frac{1}{5}\right)^2 =$$

$$\left(2 + \frac{1}{6}\right)^2 - \frac{3}{4} - \frac{1}{4} - 4^2 =$$

$$\left(\frac{1}{2} - \frac{1}{2}\right)^2 + \frac{1}{6}\left(\frac{3}{4} + \frac{2}{3}\right) =$$

$$\left(\frac{1}{2} - \frac{3}{2}\right)^2 + \frac{1}{2}\left(\frac{3}{5} + \frac{3}{4}\right) =$$



Name: _____

Date: _____ Score: _____

$$(3 - \frac{3}{4})^2 + \frac{1}{2} \times \frac{1}{3} \times 3^2 = \frac{105}{16} = 6\frac{9}{16}$$

$$(\frac{1}{3} - \frac{1}{3})^2 + \frac{1}{6}(\frac{3}{2} - \frac{1}{5}) = \frac{13}{60}$$

$$(5 - \frac{1}{4})^2 + \frac{3}{5} - 4^2 \times \frac{1}{2} = \frac{1213}{80} = 15\frac{13}{80}$$

$$(\frac{3}{2} + (\frac{1}{6})^2) \times \frac{1}{6} + (\frac{1}{3} - \frac{1}{6})^2 = \frac{61}{216}$$

$$((\frac{1}{2})^2 + \frac{2}{3}) \times \frac{3}{4} - (\frac{1}{3} - \frac{3}{2})^2 = (-\frac{97}{144})$$

$$(\frac{1}{3} - \frac{1}{2})^2 + \frac{3}{2}(\frac{1}{2} + (\frac{2}{5})^2) = \frac{229}{225} = 1\frac{4}{225}$$

$$((\frac{2}{3})^2 + \frac{1}{3}) \times \frac{1}{4} + (\frac{3}{5} + \frac{1}{5})^2 = \frac{751}{900}$$

$$(2 + \frac{1}{6})^2 - \frac{3}{4} - \frac{1}{4} - 4^2 = (-\frac{443}{36}) = (-12\frac{11}{36})$$

$$(\frac{1}{2} - \frac{1}{2})^2 + \frac{1}{6}(\frac{3}{4} + \frac{2}{3}) = \frac{17}{72}$$

$$(\frac{1}{2} - \frac{3}{2})^2 + \frac{1}{2}(\frac{3}{5} + \frac{3}{4}) = \frac{67}{40} = 1\frac{27}{40}$$